
Resumo do aço

AÇO DIAM

(mm)

CA50

CA60

6.3

4.2

5.0

PESO TOTAL

(kg)

CA50

CA60

L5

h=13

L1

h=13

L2

h=13

L3

h=13

L4

h=13

2 N2 ø4.2 CT=203

203

L10

h=13

L11

h=13

L12

h=13

2 N4 ø4.2 CT=197

197

L15

h=13

L14

h=13

L9

h=13

L8

h=13

L7

h=13

397.7

9.7

C.TOTAL

(m)

1477.5

56.3

17.4

PESO + 10 %

(kg)

397.7

6.7

2.9

L6

h=13

2 N3 ø4.2 CT=624

624

L13

h=13

L21

h=13

L18

h=13

L36

h=13

L16

h=13

L23

h=13

L24

h=13

L25

h=13

L17

h=13

L19

h=13

L20

h=13

L22

h=13

L26

h=13

L27

h=13

L28

h=13

L29

h=13

L30

h=13

L31

h=13

L32

h=13

2 N5 ø4.2 CT=928

928

L33

h=13

L35

h=13

L37

h=13

L34

h=13

2 N6 ø4.2 CT=560

560

Armação positiva das lajes do pavimento LAJE DO TERREO (Eixo Y)

escala 1:50
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3 N14 (1) ø6.3 c/N CT=163

3 N10 (1) ø6.3 c/N CT=158
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ENDEREÇO: Rua 2, S/Nº - São José / Rio Novo do sul - ES
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